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Exam Specifics

This 101 Application Delivery Fundamental s test will be computer-based and comprises 80 multiple-choice questions that you are
required to complete within 90 minutes. To passit, you will have to achieve a minimum score of 69%. To know more, you are
allowed to retake your test if you fail but you will have to wait a certain number of days until you are permitted to do so. The cost of
such an exam is 135 USD per attempt, excluding local taxes and fees.

For more info visit:

F5 101 Exam Reference

QUESTION 92

Which of the following is correct regarding static parameters?

* A static parameter is stored in aframe cookie.
* A static parameter is predefined by the web application logic.
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* A dtatic parameter islearned only by using the Deployment Wizard.
* A static parameter is mapped once when creating the application flow model.

QUESTION 93

Select F5 platforms have which three certifications?
* FIPS

* SECG

* NEBS

* |EEE

* Common Criteria

* AFSSI

QUESTION 94

Although APM can interoperate with LTM, it is unable to use iRules for advanced processing.
* True
* false

QUESTION 95

An administrator deploys a site in which the load balancer only sees the ingress traffic from the client All egress traffic from the
server bypasses the load balancer.

Which type of solution isthis?

* packet forwarding architecture
* delayed binding

* switching

* Full proxy architecture

QUESTION 96

A monitor has been defined with an alias port of 443. All other options are left at their defaults.

The administrator wishes to assign it to a pool of members where the members& #8217; ports vary. Which is the result?

* For each member, if the member port is not 443, the member will be marked down. For each member,if the member? Port is not
443, the member will be marked down.

* For each member, the monitor will test member node at port 443. For each member, the monitor will test the member ? node at
port 443.

* For each member. If itisrunning an SSL service at the member port, the monitor may work.

Otherwise, the monitor will fail and the member for each member, if it is running an SSL service at the member port, the monitor
may work. Otherwise, the monitor will fail and the member will be marked down.

* Thisassignment is not allowed since the port do not match.

QUESTION 97

What are the two most common methods of placing a BIG-IP device into a network environment?

(Choose two.)
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* Channeled configuration
* VLAN configuration

* NAT configuration

* SNAT configuration

* Asymmetric configuration
* Routed configuration

QUESTION 98

Which three of these software modules can you layer on top of LTM on a BIG-IP device? (Choose three.)
* Web Accelerator

* APM

* ARX

* GTM

* Firepass

* Enterprise Manager

Explanation

These software modules can you layer on top of LTM on aBIG-IP device are AAM, APM and GTM.

QUESTION 99

Which two daemons only run after the entire license process has been completed? (Choose two.)
* zrd

* tmm

* ntpd

* gtmd

QUESTION 100

A user&#8217;s access to resources can change based on the computer they connect from.
* True

* False

Explanation/Reference:

QUESTION 101

What is acommon use of an iRule?

* to modify application traffic between the client and server

* to create areuseable application delivery template

* to integrate aBIG IP into an enterprise orchestration tool

* 1o create an accel erated session between two BIG-1P devices

QUESTION 102

A device needs to decrypt traffic and send unencrypted traffic to the web server. Which method should the BIG-1P Administrator
use?

* SSL Optimization

* SSL Caching

* SSL Termination
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* SSL Bridging

QUESTION 103

What occurs when a save-config command is issued?

* The current configuration files are backed up.

* The current configuration files are verified for syntax, then the running configuration isinstalled in memory.
* The current configuration files are loaded into memory.

* The current configuration files are saved into an archive format.

QUESTION 104

A user isbuilding a security policy using the Deployment Wizard and the Rapid Deployment application template. By default,
which settings will be applied to the security policy? (Choose 3)

* Data Guard will be enabled.

* The enforcement mode will be set to transparent.

* The encoding language will be set to auto detect.

* Wildcard tightening will be enabled on file types and parameters.

* The Attack signature set applied will be Generic Detection Signatures.

QUESTION 105

Which protocol isused for control and session establishment for streaming media?

* RTP

* DTLS

* SMB

* RTSP

Referance: https://stackoverflow com/questions/4303439/what-is-the-difference between- rtp-or-rtst-in-streaming-server

QUESTION 106

in which scenarioisafull proxy TCP connection required?
* when SIP UP P load balancing is defined

* when DNS load balancing is configured

* when compression is enabled

* when layer 3 load balancing is configured

QUESTION 107

Y ou have a pool of serversthat need to be tested. All of the servers but one should be tested every 10 seconds, but oneis slower and
should only be tested every 20 seconds. How do you proceed?

* |t cannot be done. All monitors test every five seconds.

* |t can be done, but will require assigning monitors to each pool member.

* |t cannot be done. All of the members of a pool must be tested at the same frequency.

* |t can be done by assigning one monitor to the pool and a different monitor to the slower pool member.

QUESTION 108

Click the Exhibit Button an LTM hasthe 3 virtual servers, a SNAT defined, four self IP addresses defined and the networks shown
in the exhibit. Selected options for each object are shown below. Settings not shown are at their defaults.
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VirtualServer 1
Destination: 10.10.1.102:80 netmask 255.255.255.255
Pool: Pool with 32 members in the 172.16/16 network

SNAT Zutomap enabled m
. cO

VirtualServer?2

Destination: 10.10.1.102:*4n m@({\g\[

255.255.255.255 5\_

Pool: Pool YU@H\%& in the 192.168/16 network
{ ]

Virtuals er 3

Destination: 10.10.2.0:80 netmask 255.255.255.0

Type: IP Forwarding

SNATI Scurce IP: All Addresses

SNAT Address: SNAT Pool with 2 members 172.16.20.50 and 1%2.168.10.50
self IPs 192.168.1.1;

P72 Y010 402025 10.10.2.1

A connection attempt is made with a source I P and port of 10.20.100.50:80 and a destination IP and port of 10.10.2.10:80. When the
request is processed, what will be the source and destination | P addresses?

* The request will be dropped.

* Source |P; Either 172.16.20.50 or 192.168.10.50; Destination |P: 10.10.2010
* Source |P: 10.20.100.50; Destination IP: 10.10.2.10

* Source |P: 10.10.2.1; Destination IP: 10.10.2.10

QUESTION 109

Why would an administrator capture monitor traffic between a BIG-IP and servers?

* Viewing monitor traffic could help the administrator to define a more robust monitor.

* |f aclient were having difficulty logging into aload-balanced SSH server, viewing and analyzing the connection process would
determine the reason.

* Only client traffic may be captured; monitor traffic may not be captured.

* |f client traffic to servers was failing, viewing and analyzing monitor traffic would determine the reason.

QUESTION 110
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Which three are GTM server dynamic load balancing modes? (Choose three.)
* Packet Rate

* Virtual Server Score

* CPU

* Fallback IP

* Ratio

The Global Traffic Manager supports the following dynamic load balancing modes:
Completion Rate

CPU

Hops

Kilobytes/Second

Least Connections

Packet Rate

Quality of Service (QoS)

Round Trip Times (RTT)

Virtual Server Score

V'S Capacity
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